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- i B A RRE A E AR B (R R R 0.8716
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- B A B A I R R (R R ) 0.9096
Bl fn (e & Bitil)  eriRgEg = 0.001298
Botimefim OMAF ) R E R R 0.06611
Botimefim (hiksc k) S &REmE 0.07649
B flax i (isbaRiEs) B R =R 0.03537
Bitiafi (THARREE)  RIIREH R 0.01247
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WMEY TRERFLR 0.07548
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TN A b i % O 2 B kP B AR He = (T RAR 50 8.4357 = A | —
TN A Ak i % PR 2 B kP B AR e =R (— AR %) 0.04303 —
NN 28 HA RN N A [E] R 24 72 0 i e PR 4 % 675| /[l ##
TNON 3 28 1% 0 a8 07 W3 0 i 3% P 2 B (kv aE) 300, 728,615 =
TN N 8 22 i 6% #0 38 6F VR i i 5% P B (5 AR ) 284,419,113 M
INNFE AZ A0 T R i sk fr 2% (5 FIR) 294, 455, 729 =
TN 3 22 a6 8T 38 T R i i 5% PR 2 B (R R 0 ) 299,474,038 M
TN 38 228 a6 8T 18 7 R i i v ok 2 B (Bk ) 288,182, 844 M
NN B 22 48 B 0 i R IR ol e A PR e (LU IR 299, 474, 038 H]
INNF AZ A T T IR B i 5 R 2 8 (8 & 1) 304, 492, 346 M
TN B A8 1% 0 a8 0T W2 00 e % R 2 B (K IR ) 324, 565, 580 M
TNON 3 28 1% 0 a8 07 W3 0 e 3% PR 2 B (5 R 1) 320,801, 849 M
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TN 3 A2 H % 0 a8 7 W2 0 i % O 2 B (RIS IR 307,001, 501 M
TN 3 A8 H 1% 0 a8 0T VR 0 i 3% P 2 B (B B IR 337,111, 351 =
TN 28 A b6 H1 JE F R i ek ok 2B (T HELR) 350,911, 699 M
INON 3 22 a6 8T 38 T R i i 5% R B (CROTHR) 364,712, 048 M
TN 38 22 460 4 0 0 JFF VR 310 it % £ 2 2 (R 2= )11 L) 342,129, 660 &
NN 3 A8 #1802 0T R 0 i 5% PR 2 B R iR IR ) 298,219, 461 )
TN 38 22 460 4 0 3 UL 1) e o PR 2 (L BL) 310, 765, 232 ]
TN 38 22 464 0 3 VR 1) e o AR 2 ()11 L) 312,019, 809 M
TN 3 A8 H 1% 0 a8 07 IR 0 i % PR 2 B (i JF IR 310, 765, 232 M
TN 3 A8 #1028 7 VR 0 i 3% P 2 B (LAY IR ) 345,893, 391 M
NN 28 WA b6 H1 JE F R i i ek ok 2 (R ¥R 322,006, 426 M
TN 38 22 a6 #0518 T VR i) i v PR A B (il B ) 317,038, 117 =
TNN 3 A2 1% 0 a8 0T IR 90l % R A B (R o] IR ) 329, 583, 888 )
TN 35 22 6% 400 3 JRF U 1) e 3% R A B (3% ) 324, 565, 580 H
I F A A 0 a8 T R B i g% PR 2 8 (= E IR 317,038, 117 M
TNON 3 28 #1100 a8 0T IR 0 i % PR 2 B (T IR ) 313,274, 386 M

- 11 -



TN 3B A8 1% 0 a8 07 IR 9t i % P 2 B (X BT ) 320,801, 849 =
TN 3 A8 1% 0 a8 T V2 9t e % O 2 B (R FRT ) 333,347,620 M
TN ON 3 22 a6 8T 38 T U2 i) i v PR e (0 i ) 317,038, 117 M
TN 2 e 30 T R B e s R 28 (R R IR) 325, 820, 157 ]
TN 3 A2 #1800 38 T IR 90 e B A% 2 By (PR ) 320,801, 849 H
NN 3 A8 #1802 0T R 0 i 5% P 2 B (R IR 291, 946, 575 )
TN 38 22 460 1 0 0 UL 1) e ¢ PR 2 B (R AR UL ) 290, 691, 998 &
TNON 3 A8 1% 0 a8 07 W3 90 e % PR A B (I 1l ) 304, 492, 346 M
TN 3 A H % 0 a8 7 R i i 3% P 2 B (R B 1) 293,201, 152 M
TN 3 A8 #1028 7 VR 9 i 3% e 2 B (1l 1 ) 296, 964, 834 M
TN 3 228 A b6 #0138 F R i i 5% R 2 B (TR 1) 305, 746, 923 M
TN 228 Ha b6 HT 1E F R i i vk o 2 B (1T 299,474, 038 M
NN B 22 18 B 0 3 R U2 ol e A Pk B (35 IR ) 299, 474, 038 H]
TN ON 3 28 #1860 3 JRF UR Bl o B (i Jn IRY) 299, 474, 038 H]
TN ON 3 28 A 48 0 3 JRF DR o) i e fm 4 B (o ] UL ) 296, 964, 884 H]
TNON 3 28 #1880 a8 0T VR 0 e % PR 2 B (e IR ) 298, 219, 461 M
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TN 3 A2 H % 0 a8 07 TR ) i % PR 2 B (R I 1) 286, 928, 267 M
TN 3 A8 1% 0 a8 T VR 0 i 3% PR 2 B (R AR IR 285,673,690 =
TN 2 22 i 6% 8T 38 T R i i vk R 2 B (R0 1) 280,655, 381 M
TN 38 228 a6 8T 38 7 R i i 5% R e B (R I B ) 276,891, 650 M
I A A 0 8 i R i e P 8y (BEIR & IR 280,659, 381 H
NN 3 A8 Ha 1% 0 2 0T IR 0 e % PR 2 B (Ph IR ) 261, 836, 725 )
Hh R A AR T AR PR 4 o6 B R L R 0.04748 —
{108 2 18 Tl 3¢ R 4 B oof 1 & B B R 0.02527 —
AZNT =T NVIER 1 km 72 0 ek fr 2% (digEE) 151, 345 M/ km
ARV =T VIR 1Tk 72 ) fisk k2% (FHRR) 143,233 M/ km
AZNT =T NVIER 1T knY 72 ) fisx k2% (G5 FR) 148, 225 M/ km
AZNT =T NVIER 1 kmY 72 D Miek fr 2 f (& R) 150, 721 M km
AZNT =T NVIER 1knY 720 sk 2% (FKHE) 145, 105 M/ km
AZNT—TNVIER 1knY 72 sxfra® (ILER) 150, 721 M km
AZNT =T NVIER 1kmY 720 ik 2 (55 F) 153,218 M/ km
AZNT =T VIER 1kmY 720 ek 2 (KIE) 163, 202 M km
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ABZNT =T VIR 1 knY 72 0 figk R 28 (AR R) 161, 330 M./ km
AZNT =T NVIER 1 km 72 0 ek fr 2% (BEIE IR 154, 466 M km
ABZNVT =T )VIER 1T knY 720 itk 2d (& ER) 169, 442 M km
AZNT =T NIER 1 knY 72 0 figk e 2% (T HER) 176, 306 M km
AZNT =T NVIER 1knY 720 sk 2% (HREHE) 183, 171 M km
AZNT =T NVIER 1 kmY 72 0 fi ik fr 22 (MR )IR) 171,938 M km
ABNVT =T VIER 1 knY 720 ke 2% CHiER) 150, 097 M/ km
AZNT =T NVIER 1kmY 720 k2 (& ILE) 156, 338 M km
AZNT =T NVIER 1 km 720 ek fr 2% (A1) 156, 962 M km
ABZNT =T NIER 1 kmY 72 0 ik e 22 (8 R 156, 338 M km
ABNT =T VIR 1 k% 72 0 ik fr 2% (113 R) 173, 810 M/ km
AZNVT =T )NVIER 1knY 20 it 2dE (REFR) 161, 954 M km
ABNVT =T NVIER 1 knY 720 ik e 2% (IR IR) 159, 458 M km
AN =T NVIER 1 knY 72 0 fE sk R a2 (6 R 165, 698 M/ km
AZNT =T VIER 1km 72 0 sk fr 2% (BEHE) 163, 202 M/ km
ALV —TIVIEE 1 kS 720 fa ik 2% (Z&HIR) 159, 458 M km
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AZNT =T NVIER 1 km 72 0 ek fr 28 (A E) 157, 586 M km
ABZNT =T NIER 1 knY 72 0 ik e 2% (R IT) 161, 330 M km
ABZNT =T NVIER 1 kmY 72 0 S ik e 2% (CRBRO) 167,570 M/ km
ABZNT =T VIER 1 kY 72 0 S gk e 2 Fr (S i B 159, 458 M/ km
ANV =T NVIER 1knY 720 igktr2®E (ERR) 163, 826 M km
ABNVIT—TVIER 1 km¥4 720 faak P22 CFndk il 1) 161, 330 M km
ABNVT =T NVIER 1T knY 720 ke 2% (5HR) 146, 977 M/ km
ABFNVT =T NVIER 1knY 720 ik tr 2% (BRE) 146, 353 M km
AN =T NI R 1 knY 72 0 Mgk R g (10 IR) 153,218 M/ km
AZNT =T NVIER 1kmY 72 0 sk fr 2% (JR &) 147,601 M km
AZNT =T NVIER 1 knY 72 0 Sk e 2% (10 A ER) 149, 473 M/ km
AZNVT =T )NVIER 1TknY 20 e 2dE (fEER) 153, 842 M km
ABNVT =T NVIER 1 knY 720 gkt 2E (F)IR) 150, 721 M km
AZ N =T NVIER 1 kmY 72 0 S g% fr 2= (g R) 150, 721 M km
AL NI —TIVIERE 1 kmY 72 0 gk R 2% (5 &) 150, 721 M,/ km
AZNT =T VIER 1 kmY 72 0 ek 2% (6 i 1) 149, 473 M km
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AZNT =T )NVIER 1 kn Y72 0 i k2t (EER) 150, 097 M/ km
ABZNT =T NVIER 1kn 72 0 ikt 2% (RRR) 144, 481 M/ km
ABZNT =T NVIER 1 kn 7o 0 ik k2% (FEARR) 143, 857 M/ km
AZNT =T NVIER 1km 72 0 fisk fr 2% (K3 IE) 141, 361 M km
AZNT =T NVIER 1knY 72 v ek fr 2% (=R ER) 139, 489 M/ km
ABNVT =T NVIERE 1 kn¥S 7=V fEsx R 2% (RS R) 141, 361 M/ km
AZNT =T NVIER 1km 720 sk 2% (HHEE) 132,001 M/ km
A GV — 7 VN BIRECE 70 i R Ok 4 2 273 M/ A1 #
AR — T VIER 1 km 7= 0 ik fh 2% (dbiEiE) 31,061 M/ km
MAFBRI S —TNVIERE 1 km¥ 72 0 ek k2% (F4&E) 29, 396 M/ km
MAZRN T — 7 VIR 1 kn¥S 72 0 sk k28 CaFFR) 30, 420 M/ km
AR r — 7 VIEE 1 km¥Y 72 0 i sk P 2% (5 5 R) 30,933 M/ km
MMAZIr — 7 VIER 1 km 72 0 sk e 2% (BKEIR) 29, 780 M/ km
AR —7 VIEE 1 knY 72 0 sk 2% (LER) 30, 933 M/ km

MAFZRN T =7 VIR 1 kn 72 0 sk k28 (@5 R) 31, 445 M/ km

MAFRN T — 7 VIER 1 km 72 0 S gk k28 (KR 33,494 M/ km

- 16 -



IMAZNr — T IVIER 1 kmYS 72 0 Jifg g% . 28 (FF A IR) 33,110 M/ km
MAZNr — T IVIER 1 kmYS 72 0 Ji g% 2 28 (BB IR) 31,701 M/ km
AR =7 VIER 1 knY 72 0 sk fr 2 (B £ IR) 34, 775 M/ km
MARKr — 7 VIER 1 km 72 0 gk ff 2% (THEER) 36, 184 M/ km
AR — 7 VIER 1 km 7= 0 Ji g% o2 2% (B AUHR) 37,592 M/ km
MARIT =T NVIER 1 knY 72 0 fa sk R 2% (43I R) 35, 287 M/ km
MARINEr =7 VIR 1 kY72 0 fagk R 2% CHriR &) 30, 805 M/ km
MARNT =T VER 1T kn 72 0 fa ik k2% (5 LR) 32,085 M/ km
MAZr — T VIR 1 km 72 0 st 28 (5)111%) 32,213 M/ km
MAZRr — T VIER 1 km 72 0 g it 28 (I R) 32,085 M/ km
MARNr — 7 VIER 1 kn 72 0 fg gk ff 2% (LFLE) 35,671 M km
AR —7 VIEE 1 kn¥Y 72 0 sk k2% (K5 R) 33,238 M/ km
AR — 7 VIER 1 km 7= 0 Ji g% o 2 % (I 2 IR 32,726 M/ km
AR — T IVIER 1 km4 72 0 Jig g% (R 28 (B %) 34,006 M/ km
TMANRN T — 7 VIR 1 kn 72 0 fi gk fre 2% (55 R) 33,494 M km
R =T NVIEER 1knY 720 figk e 2® (ZEHIR) 32,726 M/ km
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MMAFRN T — 7 VIER 1 knY 72 0 Jiid 3% Of 4 % 32, 342 M/ km
MAZNr — T IVIER 1 kmY 72 0 Ji g% 2 28 (RUHESIF) 33,110 M/ km
MAZRN T =T VIR 1 km 720 fisxfr 2% (KIRAT) 34,391 M/ km
MAFRN T — T IVIER 1 kY 72 V) fii 5% Pk 2 & 32,726 M/ km
IMANFRSC T — 7 Ve R 1 kmY 72 V) Jifi 5% PR 42 4 33, 622 M/ km
IMAFZRIT =T VIER 1 kY 72 0 gk R 2% (Foak &) 33,110 M/ km
MARIEr =7 VIR 1 kY72 0 fagk R 2% (B EE) 30, 164 M/ km
MARNT =T NVER 1T kn 72 V) fia ik k2% (HRR) 30,036 M/ km
MR — T IVIER 1 kmY4 72 0 Jitg g% 2= B (i (L 1%) 31, 445 M/ km
MAZRr — T VIER 1 km 72 0 gk it 28 (L& IR) 30, 292 M/ km
MARN T =7 VIR 1 knY 720 fasxfr 2% (Lo ER) 30,677 M/ km
AR r —7 VIEE 1 km¥Y 72 0 sk k2% (f8 5 R) 31,573 M/ km
MMAZRI e — 7 VIER 1 kX 72 0 sk e 28 (FJIIR) 30,933 M/ km
MAFZRH T =7 VIR 1 knY 7= 0 Mgk fh 2 (BRI 30,933 M/ km
IMANRN T — 7 VIER 1 kn 72 0 fi gk fe 2% (& AR 30, 933 M/ km
RIET =T NVIERE 1 knY 72 0 Jaak R 2% (48 M 1) 30,677 M km
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MARNTr =7 VIR 1 kmY 720 sz fr 2 (FEEE) 30, 805 M/ km
MARIETr =T VIR 1knY 720 ik k& (KiFR) 29, 652 M/ km
MARIEr —7 VIR 1 knX 72 0 fa gk R 2% (FEAIR) 29,524 M/ km
MAZRN T =T VIR 1 km 720 sz fr 2 (Ko KE) 29,012 M/ km
MAZN T =7 VIR 1 knX 72 0 sk R 28 (5 IFR) 28, 627 M km
MAFZRN T =7 VIR 1 knY 72 0 fusk k2% (ERER 29,012 M/ km
MARIE T — 7 Ve 1 km2 72 V) Sk fr 2% (PP #R IR ) 27,091 M/ km

N o SV ) I NE HEIE = WU T &2 273 M /B
BRI — 7 VIR 1 knY 72 0 fEsk R 2% (dbiiE) 215, 854 M/ km
FRERE T — T VIER 1 ke 72 0 a2 & (HFHR) 204, 189 M/ km
kR — T OVIER 1 km¥ 72 0 sk R 2 CH T R) 211, 368 M7/ km
kR — T VIER 1T kY 72 V) MERR R A2 (CE i R) 214,957 M/ km
kR — 7 OVIER 1 km¥Y 72 0 fE Rk R A2 (BHIR) 206, 881 M/ km
kRN — 7 OVIER 1 kmY 72 0 e R 2 E (LB R) 214, 957 i/ km
kRN — 7 VIER 1 km 72 0 iR 2 (8 5 IR) 218,546 M km
Pk R — 7 VIR 1 kg 72 0 S Ok 22 (R R) 232,902 M km
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FRERE T — T VIR R 1 kY 72 0 fEk R 28 (A R) 230, 211 M/ km
FRERE T — T VIER 1 kS 72 0 fEsx R 2B (BEFSIR) 220, 340 M/ km
HFHERE T =T VIR 1 knYY 72 0 fEak e 2 (5 ER) 241, 875 M km
kR — T VIER 1T kY 72 V) iRk R 2R (TZER) 251,745 M/ km
kR — 7 OVIER 1 km¥Y 72 0 fE sk R 2 (R HD) 261, 615 M/ km
FRER N — T VIER 1 km 72 U Jifi 5% £k 2 & 245, 464 M/ km
FRERE T — T VIER 1 k¥ 72 0 fEik R 2B (B R) 214, 059 M/ km
FRERE T — T VIER 1 kS 72 0 fEsk R 2% (F 1L R) 223, 032 M/ km
FRERE T — T VIER 1 knYS 72 0 fEsx R 2 F& (A1) 223,930 M/ km
Fik RN — 7 VIER 1 kmY 72 0 fEk R 28 (& HIR) 223, 032 M/ km
kR — T VIER 1T kS 72 V) fERR R A2 ([LBLIR) 248,156 [ km
PR — T VIR 1k 2 0 ik fr 28 (RER) 231,108 M km
kR — 7 VIR R 1 km¥Y 72 0 fE sk R 2 (I B IR 227,519 M/ km
kR — T OVIER 1T km 72 0 fE e R 2 G IR 236, 491 i/ km
FRERE T — T VIERE 1 kS 72 0 ek R 2 F (M) 232,902 M/ km
Hh ik 4

1_
20 | A

R —TNVIER 1knE 720

E

'ﬁuu

(Z&HIR)

39

227,519

\
/

M/ km
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FRERE T — T VIER 1 kY72 0 fEsk R 2B (RE ) 224, 827 M/ km
HER A — 7 VIER 1 knY 72 0 Esk R 28 (HE ) 230, 211 M/ km
kR — T VIER 1 kY 72 V) fERR R A (KBRA) 239, 183 M/ km
kR — T VHER 1 kmY 72 V) MRk R A2 (ST ) 227,519 M/ km
kRN — 7 VIER 1 kmY 72 0 sk 2 (BRI 233, 800 i/ km
kRN — 7 OVIER 1 km¥Y 72 0 xR 2 (Fndk &) 230,211 i/ km
FRERE T — T VIER 1 k¥ 72 0 fE ik R 2 ® (S EUR) 209, 573 M/ km
FRERE T — T VIER 1 kS 72 0 sk R 2 (R IR) 208, 676 M/ km
FRERE T — T VIE R 1 kY 72 0 fE ek R 2B (100 218, 546 M/ km
FRERE T — T VIER 1 knS 72 0 sk R 2 (85 R) 210, 470 M/ km
kRS — T VIER 1T kS 72 V) fERR R A (i) 213, 162 M7/ km
kR — T AVER 1T kY 72 V) MRk R 2R (FEE ) 219,443 M/ km
FRERE T — 7 VIERE 1k 72 0 a2 ® (FR) 214, 957 M/ km
kRN — 7 OVIER 1 kmY 72 0 ek (R 28 (BEIR) 214, 957 M/ km
FRERE T — T VIERE 1 k¥ 72 0 fE ik R 2B (5 IR) 214, 957 M/ km
FRERE S — T VIER 1 k¥ 72 0 fii gk R 2 (f& [ IR 213, 162 M/ km
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kR — 7 OVIER 1 kmY 72 0 fE Rk IR AT (EE R 214, 059 [/ km
FRERE T — T VIER 1 knS 72 0 fEix R 28 (RIFKR) 205, 984 M/ km
FRERE s — T VEER Tk 72 0 R R 2 E (BEARR) 205,087 M km
FHERE T =T VIR 1 knYY 720 ik R 2E (Ko R) 201, 498 M/ km
FikR I — 7 OVIER 1 km¥Y 72 0 fEsk R 2 (F IR R) 198, 806 i/ km

YR =T NVIER 1 knY 720 Esk k2 (ERER) 201, 498 M km

R =T NIER 1 km Y 72 0 Sk k2t (MR 188, 038 M/ km
WIS — 7 Ve R 1 km 72 0 fa gk R 22 (dkifiaE) 356, 701 M km
MWEN =7 VIR 1k 72 0 sk e 28 (FHR) 336, 816 M/ km
M — 7 VIR 1 kn 72 0 M sk fr =% Ca F 1)) 349, 053 M/ km
WIS r — 7 VIER 1 k4 72 V) fERR R A (i R) 355, 171 M/ km
WIEN T — 7 VIER 1 kn Y72 0 ik k2% (FKHR) 341, 405 M/ km
WYy — 7 VIER 1 km 72 0 gk iR 28 (LB R) 355, 171 M/ km
WIEr — 7 VIER 1knY 72 0 sk R 2 (8 5 R) 361, 289 M km
WIEN 7 — 7 VIER 1 kn 72 0 fE s R 2% (KK E) 385, 762 M/ km
MEX 7 — 7 VIR 1k 72 0 figx k2% (i ARR) 381, 173 M km

22 -




\
/

MGy — 7 VIER 1 km 72 0 s fr =% (REIS IR 364, 348 M/ km
MR — 7 VIER 1 kY 72 0 ik fr 2% (I E &) 401, 058 M/ km
MRS r — 7 VIE R 1 kX 72 0 [k fr 2% (FIER) 417, 883 M/ km
MR — 7 VIER 1 km 72 0 S sk R 2 (R AHD) 434,708 M/ km
W 7 — 7 VIR 1 km2Y 72 0 i g% (R 2 407,176 M/ km
WSS — 7 VB R 1 km 72 0 S gk R 22 il 1) 353, 641 M/ km
WIEX 7 — 7 VIER 1 kn Y 72 0 i k2t (& L&) 368, 937 M/ km
WMIEr —7 VIER 1km 72 0 sk fr 2% (A JIE) 370,467 M km
MECr — 7 VIER 1 km 72 0 sk fr 2% (8 HFIR) 368, 937 M/ km
MG — 7 Ve R 1 k2 72 0 fi e pr g ([LELIR) 411, 764 M/ km
MR — 7 VIER 1 kmX 72 0 fisk R 2% (RBFIR) 382,703 M/ km
MR — 7 VIE R 1 km 72 0 S gk R 22 (il & 1) 376, 585 M/ km
WIEr — 7 VIER 1 kmY 72 0 faek fr 2% (5 IR) 391, 880 M/ km
WISy — 7 VB R 1 kmS 72 0 Mgk R 2 (Z 5 IR) 385, 762 M/ km
WEEEE 7 — 7 VEE R 1 kmY 7= 0 f 7% 1% 4 376, 585 M/ km
W 7 — 7V IE R 1 kmY 72 0 S % R 4 4 IR 371, 996 M km
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MR — 7 VIER 1 km 72 0 S sk R 28 (GXHEH) 381, 173 M/ km
MR — 7 VIE R 1 km4 72 0 B sk R 2 (R ) 396, 469 M/ km
WK SE 7 — 7 VIE R 1 km 7= 0 fif 5% £ 2 & 376, 585 M km
WJESE r — 7 VIE & 1 kmY 72 V) fitl 3% Pk 2 % 387,292 M km
WIS 7 — 7 VHER 1 km4 72 0 B g% fR 2% (Rl ) 381, 173 M/ km
WK — 7 VIER 1 km 72 0 fa gk R 22 (B EUR) 345, 994 M/ km
WIEN 7 — 7 VIER 1 kn Y 72 0 i k2t (EHRE) 344, 464 M/ km
WIECr — 7 VIER 1 kmY 72 0 ek fr 2% (i 1R ) 361, 289 M km
WEIRY S — 7 VIER 1 kmY 72 0 fisk R 2 & (A 5 IR) 347,523 M/ km
MK — 7 VIR 1 km 72 0 M sk pr a2 (A i) 352, 112 M/ km
MR — 7 VIER 1 kmX 72 0 S sk R 2% (T8 5 IR) 362, 819 M/ km
MR — 7 VIER 1 kmY 72 0 S sk R 22 (FJIIR) 355, 171 M/ km
WIEr — 7 VIER 1 kn 72 0 sk R 2% (B R) 3565, 171 M/ km
WK — 7 VIER 1 km 72 0 fa gk R 22 (& &0 lk) 355, 171 M/ km
WS r — 7 VIER 1 kmY 72 0 fa gk PR 2% (& [ ) 352,112 M/ km
MR — 7 VIER 1 kY 72 0 fEfk R 28 (EEIR) 353, 641 M km
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MWEYr — 7 VIR 1 km 72 0 Mgk ok 2% (R IR) 339, 875 M/ km
WK — 7 VIR 1 kmY 72 0 Mgk R 2 (BB ARIR) 338, 346 M/ km
WIS — 7 VIE R 1 kmX 72 0 Mgk R 22 (K4 1R) 332, 228 M km
WY — 7 VIR R 1 km 72 0 Mgk R 22 (= IR 1) 327, 639 M km
MRy — 7 VIER 1 km 72 0 sk k2 (B R) 332, 228 M/ km
MR — 7 VLR 1 km 72 0 Mgk k2% (M IR) 309, 284 M km
BRI R km 72 0 sk R 2 & 63, 240 M/ km
FPOREKRERknY 720 i sk k2 63, 240 M/ km
& 9 dH B RkmY 7o 0 i ak IR 2 63, 240 M km
[ B R kn 72 0 fi 5% O 2 & 63, 240 M/ km
H 5 R B IE £ km Y 7= 0 Jifi 5% R 4 2 63, 240 M/ km
AR I R AT B km2 72 0 i R R 2 63, 240 M/ km
7 ) A i i R PR 4 B ek A R Bl R 0.04826 —
A il A il S R i R PR e B ook R L R 0.04826 —
P A =5 A ) Mt A PR 2 B e T R B R 0.01976 —
Bt s i (R &R o ik ff 2 2 kb & & 41 b =R 0.1493 —
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BBl m i O AN B A2 4 p8) Ml s fr 2 e R E R R (2R ) 8.4357 = A b —
B LRk I O A 3B 22 %) kB R E R (— AR 0.04303 —
Ba ekl (rhflk A2 a8 ) i ik O 4 % e 5 AR HE =R 0.04748 —
B (N (T AMBRER) T A B I R kY 72 V) Ji 7% PR 42 2 8,509 M/ km
B ek fi (i PN RR ) PR B A R km2Y 72 V) Jifd i PR 42 5 1, 632 M km
B B i O (M 2% S AR B PR ) i 73 P 4 0 oo ¢ B8 B Lb =R 0.02527 —

JFH 5 W i 7 PR 4 % o P B EL R 0.01976 —
17 S8 W) Ji 3% AR SErE - RS 0 —
P R OY 46 18 i 5% R 4 B s % 8 R B 3R 0 —
i i A PR 4 B kT H A L R 0.03420 —
T E 2 B K OV o b 5% P 4 e b 9% 8 48 L =R 0.003386 —
WA EEEE (Y 7 by =7 ) sk IR ATk R FE LR 0 —
BIEEEEE (£ OfMhoBIEEEEPE) Mk i a8k & & 5 =R 0 —
B 1 AN 20 E B S R 401 RPN
B 1 kY 72 0 3E B S A B 44, 888 M/ km
R AR K 1 kY 72 0 3B B S OB 447, 322 M/ km
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& OB 1 kmY 72 0 GE B S B 906, 548 M/ km
WA vy 7 21 km¥ 720 EE S5 H Ok 4,771 M/ km
IR ARE B 1 km 72 0 & B 5 H B 4,771 M/ km
AL R 1 km2Yg 72 0 JE B S H R 4,771 M km
TR IE RN AL E 16 72 0B RS AR 60 M/ &
2 B R A i R [m] A b SR 0.5 —
S — 7 v B i 2 Y R ] AR AR Bl =R 0.5 —
R bk A D 0 25 e o6 ¢ 4 bl 001473 —
7 Ah R S R B OB B L R . 007628 —
T PR S 25 B RS B R L R .002116 —

R R i 1 2 B R AR R B R . 000819 —
A 7R 38 B 36 R K R 25 B ek 9RO E T R 001473 —
a2 B T et i R b R . 001245 —
W R B o R g TR . 001842 —
BB M OV 18 i B A f B R b R . 000659 —
L 25 e ok B B L R 0 —

- 27 -



TR & B & OV dn il & 8 H & gL R 0.0004961 —
AR R g0 B ok B R LR 0.03702 —
1 [BIHR 24 7= 0 #2 et B i = 5 & 0| M [=]#
1 [BI#R 2 72 © B T 2 v B e g 5 0 M./ [al#
1 [BI#R 2 7o 0 e ] 48 RO B 3,842 M/ [a]##
LY Jaas 0. 1565 —
o R o R R AR B 211 —
5 R 52 MUY 25 [ 44 672 [
Uiig AR S A2 4 18] K L 1) Pl SR 0.2012 —
Hh i SR A2 R[] 2 b ) b R 0.3493 —
% 1 B T FH A7 4K
A2 a1 26. 4 4
Jry % T8 15 I I 7 4 1 22. 8 3
Jy 5% 1 ) i B I 25 24 1 13.5 3
{mik 3 & 19.1 3
R R U A A 13.5 i
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MR 16 B 9 8
W15 7 2 R i 9 i
BRIE X BV ir— T )b 27. 7 i
WA XV —T L 36. 9 4
e RBRzE N — T 15. 1 4
b BT OE — T L 21. 2 £
WIESr— 7 L 26. 5 HE
AT 21. 2 =3
B 59. 2 4
HoR R B 59. 2 S
& 9IE 75 H
I [F] 3% 75 H
B 3 W] 7 59. 2 4
WMRT T 24. 3 4
T2 R K B 24. 3 4
22 ] X A 9 =3
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BRI (ERLEE) 6 ik
BRI (FELLE) 15 ik

A (5 AL 9 ik
A 4 R % ) 5 TR B 15 Za8
Pk == 2 ) 24. 1 4
BE RN (M a B 9 28
Bt e fi O A E A2 Ha k) 10. 6 i
B O m i (k22 A ) 10. 5 <2
B A AR D (o 2% 28 R B A ) 10. 8 S
Bt a fi (AR R ) 14. 1 S
Bt A fi (T P RR ) 17.4 4
M0 2 23. 1 i
HEWY 15. 8 4F
Pk f O 4 & 10. 7 4
H [ 5 2
T E. & B KO bn 5.5 &S
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